
HW 3 (Due Oct 3, 2017) Name:

Problem 1.
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Problem 2.
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Problem 3.

Obtain an expression for the power function K(θ) using the rejection region in part (b). Use R to

graph the power function when α = 0.01, θ0 = 3 and n = 4. Further, take α = 0.01 and θ0 = 0.03 to

find the smallest sample size n that guarantees K(4) ≥ 0.90.
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Problem 4.

Now suppose that n = 60 and p0 = 0.30. In part (a), find the value of k∗ that makes α as close to

0.05 as possible. Further, use n = 60, p0 = 0.3 and the k∗ you just obtained to find an expression

for the power function K(p). Use R to graph the power function.
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Problem 5.
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Problem 6.
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Problem 7.

7


